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Awakening Toppers

Sociology Test Series
Half-Length Test - 2
Ques 1, To what extent does the concept of the underclass provide a comprehensive understanding of social
inequality in contemporary society?
Ques 2. Analyse the impact of ‘specialisation’ on Labour and Society?

Ques 3. "To what extent does contemporary bureaucracy contribute to or hinder social progress and
equitable outcomes in society?

Ques 4. Difference between Authaoritative and Diffused power?

Ques 5. Elucidate how Civil Society is vital for a community. Also, highlight the role of civil society in a
democracy.

Ques 6. Write a short note on Feminisation of Poverty.

Ques 7. Discuss how social media platforms have enabled circumvention of authoritarian gatekeeping and
brought new voices into the public sphere.

Ques 8. Despite their criminal convictions, why godmen continue to enjoy enormous popularity and moral
power, Discuss

Ques 9. Analyse the how concepts of faith and science apply to the health sector.

Ques 10, In what ways has education can be leveraged to promote activism and social accountability at the
local level?

(All the Questions shall be answered in not more than 150 words)
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